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Geography

In Year 3 we need to be able to identify some key physical features from
around the UK fike hills and mountains. Do you know any areas of hills or
mountainsg Where do you think they might be?

This map is called a topographical map. The colours show the different
heights of the v wr s we_ws se _wr s s o

ground above sea -
level. Green areas
are the lowest and
red areas are the
highest.

5

Can you spot the
high ground

nearest to where
you live?
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Challenge!
Find out the
names of the
hills andl
mountains on
this map.

Number
on Map

Name of Area

Height of Highest Peak
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English

P vioere )

[ Reading Vi

VIPERS ng Vipers
Chapter 2| :{z:bularv
Refrieve Predict

Explain
Why does Hogarth feel strange at the beginning of Retrieve
Chapter 22 e
Vocabulary

*When the farmers saw the Iron Man wallowing in their
deep pit, they sent up @ great cheer.’

How are the farmers feeling? Which words tell you that |
they are feeling this way? A

How is the Iron Man feeling? Which word tells you that he is feeling that way?
Inference

Hogarth's father believes him immediately. Why do you think this is?
Summarise

In your own words, summarise what happens in Chapter 2.
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Maths

Four Awesome Operations

‘Addifion (using.
column method)

139 + 294

‘Sublraction (using
column method)

498-212

Multiplication (using.

arid method)

38x4

Division (using sharing
of place valve
counters)

3650364

Fractions - Fractions of an amount
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Fraction Problem Solving

Whitney has 12 chocolates.

On Friday, she ate

K

of her chocolates and gave one

to her mum.

and gave one to her brother.

©On sunday. she ate ; of her remaining chocolates.

How many chocolates does Whitney have left?

|
|
| ©nsaturday. she ate X of her remaining chocolates,
|
|

3 +— numerator

5 <+—denominator

In a fraction, the denominator fells us how many equal parts a whole will be divided
info. The numerator fells us how many parts of the whole fhere are. For example in 2

the denominator fells us that we are splitting a whole in fo 5 equal parts. The
numerator fells us that we are then only counting the amount in 3 of these pars.

To caleulate L of 15 we need fo divide 15 by 3 which will give us § (inerefore, each

of the 3 parts is worth 5). To calculate 2 of 15 we need to divide 15 by 3 and then

multiply the answer by 2. Therefore, if £ = 5 then 3= 10.

1) Complete the tables below:

16

20

28

40

of

of

e
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9 15 24 36
1/3 of
2/3 of

15 20 35 50
1/5 of

2/5 of





